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1. Is the syntactic similarity between Hume’s Principle and Basic Law V a 

help or a hindrance to neo-Fregean logicism? 
 

2. EITHER: a) What is the problem Ramsey hoped to solve by means of 
the notion of a ‘propositional function in extension’?  Did he succeed? 

 
 OR: b) What justification can be given for the axiom of reducibility? 
 

3. ‘Mathematical objects are useful fictions.’  Discuss. 
 

4. In what sense, if any, is mathematics analytic? 
 

5. ‘There is no coherent position from which it is a philosophically 
interesting question what the word “cats” refers to.  It refers to cats.’  
Discuss. 

 
6. EITHER: a) What consequences, if any, does Lewis’s triviality result 

have for theories of indicative conditionals? 
 

OR: b) Explain and evaluate an account of the semantics of 
counterfactual conditionals. 

 
7. ‘The metaphysical issue of realism is really one about meaning.’  

Discuss. 
 

8. If translation is indeterminate, then how is communication possible? 
 

9. Is logic conventional? 
 

10. ‘Appealing to the community cannot solve the rule-following problem 
because it arises again at the level of the community.’  Discuss. 
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